



Z2 Answers

1. (6.6) a) $x(k) := -4 \cdot \delta(k) + 2 + 2 \cdot \sqrt{2} \cdot \cos\left(\frac{\pi}{2} \cdot k + \frac{\pi}{4}\right)$
 $x(0) = 0 \quad x(1) = 0 \quad x(2) = 0 \quad x(3) = 4 \quad x(4) = 4 \quad x(5) = 0 \quad x(6) = 0 \quad x(7) = 4 \quad x(8) = 4$

2. (6.7)	<u>Bounded</u>	<u>Converges</u>	<u>$x(\infty)$</u>	3. (6.8) a)	yes
a)	yes	yes	0	b)	yes
b)	yes	yes	0	c)	no
c)	yes	no	0	d)	yes
d)	yes	yes	8/9	e)	no
e)	yes	yes	2	f)	yes
f)	no				
g)	yes	no			
h)	yes	yes	1		

4. (6.9) a) $H(z) = \frac{z^2}{z^2 - a \cdot z + a^2}$ stable if: $|a| < 1$ b) $H(z) = \frac{12 \cdot z^2 + 48 \cdot z - 3}{z \cdot (2 \cdot z - 1)}$ stable

5. (6.10) a) $H(z) = \frac{z^2}{z^2 - z - 1}$ unstable b) $\frac{1 + \sqrt{5}}{2} = 1.618$

Z3 Answers

1. (6.11) a) gain = $-\frac{2}{3}$ $y_{ss} = -2$ b) $2 \cdot e^{j \cdot \frac{\pi}{2}}$ (frequency response) $-2 \cdot \sin\left(\frac{\pi}{2} \cdot k\right)$

2. (6.12) a = 1 g < 1

3. (7.1) a) $H_d(z) = \frac{z \cdot (T - 1 + e^{-T}) + (1 - e^{-T} - T \cdot e^{-T})}{(z - 1) \cdot (z - e^{-T})}$ b) $H_d(z) = \frac{(1 - \cos(T)) \cdot (z + 1)}{z^2 - 2 \cdot \cos(T) \cdot z + 1} = 0 @ T = 2 \cdot \pi$

4. (7.2) 60-Hz